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(v) TUZTH J57 G&I1 22 T 28 7% TG-IHIT (SA) FHR & di7-ai7 371 & Fo7 & |

(vi) @UE T H JoT GCIT 29 I 30 FH-ITHRT TR-AR 7] & F97 & | Je4eb J97 4
39-Y97 & TIT Uk 37-Y97 7 3R faeheq 1397 731 8 |

(vii) WUE F § ¥o7 g&IT 31 @ 33 7% -39 (LA) IR & qrer-aid 3751 & Jo7 & |
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(b) (i) 9T (iv)
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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 33 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 16 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B - Questions no. 17 to 21 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C - Questions no. 22 to 28 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D - Questions no. 29 and 30 are case-based questions, carrying
4 marks each.

(vit) In Section E — Questions no. 31 to 33 are long answer (LA) type questions,
carrying 5 marks each.

(viit) There is no overall choice. However, an internal choice has been provided in
1 question in Section B, 1 question in Section C, 2 questions in Section D and
3 questions in Section E. A candidate has to attempt only one of the
alternatives in such questions.

(ix)  Use of calculators is not allowed.

SECTION A
Questions no. 1 to 16 are Multiple Choice (MCQ) type Questions, carrying
1 mark each. 16x1=16
1. Which one of the following processes results in the production of

recombinants in future generations ?

1) Mutation

(i1) Independent assortment during meiosis I
(i1i)) Independent assortment during meiosis II

(iv)  Crossing over of bivalents
(a) (1v) only

(b) (11) and (iv)

(c) (1), (11) and (111)

(d) @), 1), (11) and @1v)
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2. R fu U cyeTes AU § gEiv UR STEfHehgl W ITciEd WhH W
Tfeaferd TIa X7, Bt Y’ qT TATGH 2 i Tg=THT |

B
3 Al 5
LlL
5 3
‘Z’
4Y’
A X TRl Y THATSH ‘7
(a) HHYH o (o) ARTAY GTATRS
(b) S T (p) TN UTATHES
(c) 3Ah fomm (o) STNTAT YT
d) IFIEH o (o) AT qiA TS
3.  WHa wHfee i Fafeufa 1 f= fou MU aHa oy fifie gro fsfua fopam
2
T
S
A
(a) Tt gHftE
(b) foor gafse
(¢c) JE™ gHfte
d) Tooqea wmfse
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2. Identify the region X', the factor Y’ and the enzyme ‘Z’ involved in the
process of transcription in prokaryote as shown in the schematic
representation given below.

{X’
3 5
114
5' 3’
iZ)
(Y?
Region X’ Factor Y’ Enzyme ‘72’
(a) Terminator Sigma (o) RNA polymerase
(b)  Promoter Rho (p) RNA polymerase
(c) Promoter Sigma (o) RNA polymerase
(d)  Promoter Sigma (o) DNA polymerase
3. The status of the human population reflected in the human age pyramid

given below is :

Post-Reproductive

Reproductive

Pre-Reproductive

(a) Declining population
(b) Stable population

(c) Expanding population
(d) Extinct population

Class X1l Science www.esaral.com 5
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St fosm & faenfot 3 39 TR (@) & T T8 grell Th A & fafne
T | A o AN § AT o TR o AThSl I Tehd Hieh (T UTH G
frefua form | o% § s-E fag 94 4 Smniyd @ 7o i yfdfe (faes)
TAAT I gITAT B 2

E S
(i) i) (i) (iv)
TG H yaE h gl ——
(@) fag () (b)  Torg (i)
(¢ Ta=g (i) @ Tomg Gv)

= @ waw feu mu | w99 1§ 9R THATSHT Sl 997 €49 11§ THASHI & TR
s = @ 5 7 | FefaiRaa fashedl ® € -1 fashed TATSHI W1 3ok Geed

YRRl 9 0 I 98l 9 H <90idT @ ?

&7y I &7y IT
(TsiTE) (9%7%)
P. <iwu o i ST % BN ¥ fFieEsd ®
BT 2
Q. UfEeHd THaas il EitAu 3raeie W uTEE i ferearia
AT 3
R. 3% Uicims iii. EITAT WSt i ST 8

S.  UfiEed TSfgaTd  iv. Eiudu i fafime Tl W wrear §
fasheT :

(a)  P-, Q-ii, R-iv, S-iii (b)  P-iv, Q-iii, R-ii, S-i

(¢)  P-, Q-iv, Riii, S-ii (d)  P-iii, Q-i, R-ii, S-iv

Class X1l Science www.esaral.com



https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


°e’5a Fa I JEE | NEET | CLASS 8 - 10 Download eSaral APP [ ()

4, The graph plotted below is based on the data collected by biology
students with respect to the levels of oxygen at the specific points in the
river flowing outside their city. Which point in the graph indicates the
entry of untreated sewage in the river ?

" /\ /,” _______
\ l’
S : — Dissolved oxygen
2 . ¥ --- Mineral ions
V] \
— N /
\ /
o L
"1
(1) (i) (1) (iv)
Distance along River ——
(a)  Point (1) (b)  Point (11)
(c) Point (ii1) (d)  Point (iv)
5. Given below are two columns. In Column I is the list of four enzymes and

in Column II is the list of functions of the given enzymes. Which one of
the following options shows the enzymes matched with their respective
functions correctly ?

Column I Column II
(Enzyme) (Function)
P. DNA Ligase i.  Removes nucleotides from ends of
DNA
Q. Restriction exonuclease ii. Extends primer on a DNA template
R. Taq polymerase iii. Joins the DNA fragments
S. Restriction endonuclease iv. Cuts DNA at a specific position
Options :
(a) P-, Q-ii, R-iv, S-iii (b)  P-iv, Q-iii, R-ii, S-i
(c) P-i, Q-iv, R-iii, S-ii (d)  P-ii, Q-1, R-ii, S-iv
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6. ST ARSI qehieh gRI T Tk &= X AT a9 3= =afhat 1, 2 3T 3
& ST MHEAT 1 eI hifou | Fefalaa & 9 -1 foes 39 5= X

& QT ek 814 ohl STdT & 2
g1 oAtk oAk oFfh
X 1 2 3
(a) 14dAT 2 (b) 2ddT 3
(¢) 1713 (d) <had = 3

7. % A ¢TI A % HEG H UTh(deh ST o TsRH I TRl & § GRATNG

T I TIehed T =¥ hIfVT :

N

ot < HEn

N
7

S =i e hi TEE ——
(a) TATNHTIEh U1 — FAifh At o aTel TSI o ITad! aoT BT & |
(b) Toeres T — =i DI T At TEH I FSTBT T ST BT B |
(c) Tesmeqess awor — sifer @st e ot fSRIw! <h1 ST et B |
(@) TURflhRe T — ifh e shl AEIH el ol ORIl <hT o0 BIdT
=
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6. Study the DNA profiles obtained as a result of DNA fingerprinting of a
child X’ and three individuals 1, 2 and 3. Which one of the following
options shows the possible parents of the child X’ ?

Child Individual Individual Individual

X 1 2 3
rom— — I
— — —
| I I
I
— e ]
— I
(a) 1 and 2 (b) 2 and 3
(c) 1 and 3 (d)  Only individual 3
7. Select the option that gives the correct description of the process of

Natural Selection with respect to the length of the neck of giraffe.

N

_—
Number of giraffes

Neck length in giraffe ——

(a) Stabilising selection as giraffes with longer neck lengths are
selected further.

(b)  Disruptive selection as giraffes with smaller and longer neck
lengths are selected.

(c) Directional selection as giraffes with longer neck lengths are
selected.

(d) Stabilising selection as giraffes with medium neck lengths are
selected.

Class X1l Science www.esaral.com 9
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10.

39 fasheu &1 =@m HifVw S 325 AN S (A1) IR
TSI JshH gRT - dTel WSROI shl Hel T&AT <l ST T 8 |

(a) 325 (b) 650

(c) 1300 (d) 975

f= g ww for mu | ww 1 IR mifues giee % 9w fog e qen
w9 11§ 39 IRear o T qlenl i guien ™ ' | 39 fashew 1 wRE
Fife forem miftias R &1 3T SR & Y TE & d gafera o w
2 |

&y I &7y 11
(TR ) (7% &1 TbT)
p. fawe i, ITSIcHSd ol GeHd
Q. WA 375 ii. TR H SRS <l HeTehTOlfsha
R. a9 & e 39 iii, TS I Sl TS < WIS S
S. el iv. Tter e Bt eeopet 1 gfadie seE
faehey :

(a)  P-ii, Q-iv, R-ii, S-i
(b)  P-i, Q-ii, R-iii, S-iv
(¢)  P-ii, Q-i, R-iv, S-ii
(d)  P-iv, Q-iii, R-ii, S-i

feferfiga 4 9 g fasrea & sta@reht Ofsr w1 g9 g gifaa g a1 Yl
% 1Y Hal &1 ° gHA T T 8 ?

afq:aret ufY FAH TRl
(a) | Geicll HINERIT | TEIEA fedierep <ifires @eron o1 T
(b) | 39T TEEISH Y HAU I FHRLH
(¢) |hfen wifsrpd | dgom ISHTVSH SITSRaT T HRYA
(d) | e T, TH. T, Yeshr foehre 1 SO HiaT
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10.

Choose the option that gives the correct number of pollen grains that will
be formed after 325 microspore mother cells undergo microsporogenesis.

(a) 325 (b) 650
(c) 1300 (d 975

Given below are two columns. In Column I the names of four
contraceptive devices are given and in Column II the modes of action of
the contraceptives are given. Select the option where the contraceptive
devices are correctly matched with their respective modes of action.

Column I Column II
(Contraceptive devices) (Modes of action)
P. Lippes loop i.  Inhibition of ovulation
Multiload 375 ii. Phagocytosis of sperms in uterus
R. Subcutaneous iii. Causes thickening of cervical
Norplant mucous
S. Saheli iv. Makes cervix hostile to sperms
Options :

(a)  P-ii, Q-iv, R-iii, S-i
(b)  P-, Q-ii, R-iii, S-iv
(c) P-iii, Q-i, R-iv, S-ii
(d)  P-iv, Q-iii, R-ii, S-i
In which one of the following options does the endocrine gland correctly

match with its hormonal secretion and its function ?

Endocrine .
Gland Hormone Function
(a) | Sertoli cells Testosterone | Development of secondary sexual
characteristics
(b) | Placenta Estrogen Initiates secretion of milk
(¢c) | Leydig cells Androgen Initiates the production of sperms
(d) | Ovary FSH Stimulates follicular development

Class X1l Science www.esaral.com
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11.

12.

iz AU R R 1972 H HiEM RIS ST o Fayed Faior § 3qam e

ST oTeAT St o
(a) 3 & (b)  GTTHIET TEHIGRTT
(c)  THEFIRTT SHIHRET d) FaeTg ghaTraedia

Fafafea & 9 foree fufafadt fagafoemem & fafercar g = 9@ & W&
(Faferean) & forT 5ot o S o1 Yee Srferpr feu S <l Tt & 2

(a) it 39 ®eh (b) gt e fEran

(c)  Sf. JUpmUTe (d) Sf. JIR.T. AR

7 G 13 & 16 & 1078, &1 %97 15T T & — (574 T &1 397 (A) T G&R &1
HRUT (R) §RT 3 1637 77 8 | 37 941 & @&l I 719 130 T #1s] (), (b), (c) IR
(d) 7 @ g7a< 9T |

(a) JINHA (A) 3 FRO (R) AT T& § 3 HROT (R), 310w (A)
&l ST LT 2 |

(b)  IANHAT (A) R HROT (R) GHI Fal &, Tg HRUT (R), IHHAA (A) hl
el AT g1 i 7 |

(c) MY (A) TEl B, Tg SR (R) T4 7 |

(d)  ARTHA (A) T4 8, T ST (R) T& 8 |

13.  379%97 (A): TELU. & HHl & Tk W i S T o IGAR 3G AT MR
Ffta SRt = AW faua W e (ufase) wu
TSl B |
FRU(R):  THIHY] T F |
14. 3BT (A): Ut Sen AR 9nw (M) uy Fepe oEwd # wd 8, I8
TEWITSTAT T Ichse 3T 7 |
HRU(R): & IR0 (M) 93] Iid @ a1 9 IEafd i f&erd 7, freeh sro
3H ¥ HIe It Feherd 8 =8 o7at @ § e el
& 3R GeheT Tal & fore feT giar |
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11. The organism used in construction of the first artificial recombinant DNA
by Cohen and Boyer in 1972 was :

(a) E.coli (b)  Salmonella typhimurium
(c)  Agrobacterium tumefaciens (d)  Bacillus thuringiensis

12. Who among the following challenged the patent right granted to the
University of Mississippi Medical Centre for ‘use of turmeric in wound

healing’ ?
(a) Mr. Ajay Phadke (b)  Ms. Vandana Shiva
(c) Dr. Venugopalan (d) Dr. R.A. Mashelkar
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these

questions from the codes (a), (b), (c) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A): A patient of ADA deficiency undergoing treatment for
gene therapy requires periodic infusion of genetically

engineered lymphocytes.

Reason (R): Lymphocytes are immortal.

14. Assertion (A) : A cattle egret and grazing cattle in close association is a

classic example of commensalism.

Reason (R):  As grazing cattle move through the field, they stir up and
flush out insects from the vegetation that otherwise might
be difficult for egrets to find and catch.

Class X1l Science www.esaral.com 13
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15. 374%e7 (A) : RUcHHAE e § Yo I o SA YOI qoid: ST
forn Sman 2 |

FROU(R): W, T a1 ¥ gt MUcqgiag sl & 3IgE 7 |

16. SHIT (A) : HYR 4 Ul # Aer fowHgwehl (W) Bt 7, SR
T aHgmh! (FHIATH) B 7 |

FRU(R): e H, WG H Z a0 W T shrarem ure Sid 8, Sefh A
7.7, fem shidEm B 8 |

Qs @

17. = fou 7o o & wE Y1 o foohrE 1 U 1aET I ST T B | 39

(%) To= ¥ foEE = ame yofia s1aeen i 989 o 381 W fafaw |
(@) e Afgar < gmr nuiaeen 4 guh wE Aafedfd #1 Ieaig HIf |
() iR X AT Y 1 HUEN H W Tk Sl Uh-Ush Yhld feAfay | 2

18. (%) /3lapg T & SUE o fohd TR & 1 fohE TohR WA AfcTent Yurehiy
7 wferee et 2 2

(@) T Afetert § 3Ufedd T shegeh (X JHehI) o TSI 1 Ieci@ HiT | 2
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15. Assertion (A) : Endosperm 1s completely consumed during the

development of embryo in ex-albuminous seeds.

Reason (R) :  Castor, pea and beans are all examples of ex-albuminous

seeds.

16. Assertion (A) : Birds like pigeon have heterogametic females whereas the

males are homogametic.

Reason (R): In pigeons, females have Z and W sex chromosomes

whereas males have ZZ sex chromosomes.

SECTION B

17. The diagram given below shows a developmental stage of human embryo.

Answer the following questions with reference to it :

(a) Identify and name the human embryonic stage shown.
(b) Mention its exact location in the normal pregnancy of a woman.

(c)  Write one function of each of the two parts labelled X’ and Y’.

18. (a) From which end of the ovule, and how does the pollen tube gain its

entry into the embryo sac of a Hibiscus flower ?

(b) State the fate of the male nuclei present in the pollen tube.

Class X1l Science www.esaral.com

15



https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


°e’Sa Fa I JEE | NEET | CLASS 8 - 10 Download eSaral APP [ ()

19. (&%) () = e o 0 fafEa A’ qen B o=aisT ol ugee w3

(B)

(i)  SA9-SrEnfiehl & e T °§ 39 e & I hINT | 2

arera
(@) 39 UshH i AT Hifo fTEeh gRT Ueh Sfiam] ShifSeht & 38 i@
g foordie e &1 9 v % fou fegeasi e9ara qeon a9 yua
(3TER) g ‘G&m’ SR A4 R | 2

20. Uifeafos fRfe (Y= w@w) a6 oiiedfas a1 % o) § AUl gaq1 JgH
A 7, T 30! Wt o HWC 7 | arifeufae TREST i foheal qr et 6
il ST | 2
21. $a 9 &9 & foe ¥ vra fava w1 Ardar gew faene <o ® | 3HH 9Ra %

ST qT T & Afifeld 8 | WRa 1 i & fava @ foha wfaea 7 2 f
fre R @ v fova & 12 wEifafay gon # ¥ T 7 ? Soai@ hifT | 2

wus 1

22. had ISHIcHS NG hl Tl ¥, 3! AN a9 (EcoRI) 3 EwAU SIS
yideeq Tegfaaes i fhen g g dieae o fmior o | = @t
SIS | 3
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19.

20.

21.

22.

(a) (1) Identify and name the structures ‘A’ and ‘B’ marked in the

image given below :

‘WW"T".
| L |

(B)

(ii) State their importance in various biotechnology experiments.

OR

(b) Explain the process by which a bacterial cell can be made
‘competent’ to take up foreign DNA from its surroundings, using

divalent cations and temperature treatment.

Ecological pyramids give important information about the ecological
system, but do have some limitations. List any two limitations of
ecological pyramids.

India is the seventh largest country in the world in terms of total land
area including land and water. Write the value of the land area of our
country (in terms of percentage) of the world. Mention then, what makes

India one of the 12 mega diversity countries of the world.

SECTION C

With the help of a schematic diagram only, show in three steps,
the formation of recombinant DNA by the action of restriction
endonuclease — EcoRI and DNA ligase.

Class X1l Science www.esaral.com
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23.

24.

25.

26.

27.

o # feu u Sumeeht =1 o1 stewEE hifsr qen gefia fFefafiaa geE % I3
T

O—1 $&@ 1 EEE

1 2M sé)f—El el 11
1 2* SO 45%111

(%) = ¥ fou 7y fomiwes wwrell @ 31o@l SAUWEl ? 9 IW % EHIH H
HROT ST |

(@) I g fovwes Aferft 2 st fom-ager 2 31ua IR o auea H SR
CUEE

(M) fafrr fidt it wafa den v qen 3 W garfad Sfrersy fafem | 3

(%) TH IR (YA HiRERAT)’ % i@ fakay |
(@) THdal § WH HIRTRIST hl Hal | YT foham ST Tehal 8 2
()  OHa U % AR | TH SR’ o Sig g 3y forfay | 3

(%) gau (AferHe) 37eg aon gen (fommed) o o favg HiT |
(@) T 319 o a8 SUA U1 1 A [oT@eht IFeh! AT HIWT | 3

AR /=49 S I HH TGN SHM b AU IFHT difed A ITER HIA H

399 foRaT ST 8 | 39 IUER UshH o Fed # FAHfalga & samen s 3
(%) WYl 3YH (TAST)
(@) afsRa e

() AEAIE 9P U (VAo TS STEaiel)

(%) oyl FMHA gHa (TAHH JT o TFE) o UH g RIHET0 (JTSHIH)
eIl o AT TARET S @ 15 TfoeE 9y g9 faeme o |

(@) Sams "igdl & FER e I9ET e aeaese § S wEl w®d
g ?

(1) FEl BfEfera qen EF Reed % S g1 I faRaw | 3
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23.

24.

25.

26.

27.

Study the given pedigree chart and answer the questions that follow.

(a)

(b)

(c)

(a)
(b)
(c)

(a)
(b)

O——D Gen I (Parents)

1 2l 33}——5 Gen 1II
1 QL 30 4& Gen III

Is the trait given in the chart dominant or recessive ? Give reason in
support of your answer.

Is this trait autosomal or sex-linked ? Give reason in support of
your answer.

Write the possible genotypes of the children numbers ‘1’ and ‘3’ of
the second generation.

Write the characteristics of ‘stem cells’.
From where can one obtain ‘stem cells’ in humans ?

State any two applications of ‘stem cells’ in curing human diseases.

Differentiate between malignant and benign tumours.

Name and explain the most feared property of a malignant tumour.

Treatment of wastewater is done in a sewage treatment plant to make it
less polluting. Explain the following with reference to this treatment

process :

(a)
(b)
(c)

(a)

(b)

(c)

Primary sludge
Activated sludge

Anaerobic sludge digesters

Name the two primate ancestors of the present day humans, who
existed approximately about 15 million years ago.

According to geological records, when and where did
Australopithecines live ?

Give two differences between Homo habilis and Homo erectus.

Class X1l Science www.esaral.com
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28. (%) ()

(i)

faftm g &1 Fgme S Wil § ST i IW aTell 39
dehlehl o HHTIRgd GfeTed ®91 o faear shif 2
(1) Se.375.T5.3.

(2) 3.0 3.

(3) IR

(4) ST.3TE.T%. 3.

39 H § fohd Th-ieh (qieh) ol Ul T8=A <Tgi |1 ST Hehdl ?

Y I & gHYA H Hror fAfgu | 1
STUaT

(@) FefcfEa | fodg i 3

(1)
(i1)

IR qoT BAfIRT

Fehiedt a1 fagmhredt Siiehe

29.

Class X1 Science

(iii) T AT TATHT

Qs ™

Teh hIfRTRT T H S 3794 37T =hl TH/TSATEH o €9 § 06 Hidl & | Th
HIFTRT a1 | S 1 Tfreafth el 3T A GUT B <hl ATkl &idl §, AT
Tk STEHbrgehl IR a3 U SO hl 1fysafs &1 e 8 gdr 8, 390
AR NFTIRHIR S HHTS T SARRhITIR haad Sehe o T T
g fpam T | § o T e SUTIET W 3 g YfddTied “eie Teeish
(Tl MUA) TheudT o foTT 32 1965 | Areied TR & Tt foham mam |

()
(@)

()

(=)

&% AT (&% STUH) 1 e Fafia & <=1 g1 Siar 3 2 1
gl a1 8 fob “Siamy] Hifveht § & JaTes i AfYARh STt
e TR R s+ &l 8 17 e ol =mnited g hifso | é
&% Tt 0 e Sl G (3mE)’ S % ®u A fafga @ feen
STl # 2 é
STTaTY] o Gadd HeAH H ek <hi STURRATT § 7% JTeieh o AlSHIcH
3@ 13T | 2
HAUAT
STaTY] < FIET WieAH § S i IUMATT W &7 Y=o ohl TSI
3G 1Y | 2
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28. (a) (1) Expand the abbreviations given below, used for different
modes of assisted reproductive technologies :

(1) ZIFT
(2) ICSI
3) IUT
(4) GIFT

(i1) Which one of them cannot be considered as a procedure of
IVF ? Give reasons in support of your answer.

OR
(b) Differentiate between the following :

(1) Perisperm and Pericarp
(i1) Syncarpous pistil and Apocarpous pistil

(111) Plumule and Radicle
SECTION D

29. Gene expresses itself in a cell system as a protein/enzyme. How does an
expression of gene occur in a cell system and when does it need to
occur, and how the gene expression is regulated in a prokaryote cell
system was studied by the combined efforts of Jacque Monod, the
biochemist and Francois Jacob, the geneticist. For their work on lactose
metabolism in E. coli and introducing the concept of “lac operon” they
were awarded the Nobel Prize in 1965.

(a) Why is lac operon said to be a transcriptionally regulated system ?

(b) It is said that “the lac operon has to be operational at a very low level

in the bacterial cell all the time.” Justify.

(c) Why is the regulator gene in lac operon marked as ‘1’ gene ?

(d) Draw a schematic diagram of lac operon in absence of inducer in the

culture medium of the bacteria.
OR

(d) Draw a schematic diagram of lac operon in the presence of inducer in
the culture medium of the bacteria.

Class X1l Science www.esaral.com
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30.

31.

H= fou U @ # geeft % el o femrenes feaw fean mn 7 e s
‘AT B’ gl & fafed fpy o 2 | 39 TR FEUO # sTeRM e
frfafaa st & s v |

90° N

60° N

/ 30° N \
/ el 0° &
\ 30° S

60° S

90° S
(%) & & A’H &F B’ 3 A &, a1 i fafdear w 9w veqor fefae
qen g srr ot feflau |
(@) N1 SdTd BL WRA H 9T S o1t e shl IS shl STATHG el
I oo HINT |
aroran
(@) fova & 3@ & &1 W fafee s gaifas Sa-fafagar sifea H 13 2
3T STaTS THT i R |
Qg T

() <iuu gfeepfaes & qliss <l gftc & foI Fdewq 9 w@rad 9 T WM
TpaT | 38 T 1 T <hIfSTe qen Refaiad g o SR G |
(i) 38 U TA T ATSESH b fohd &1 T T I feRam IR

FqT 2
(i) 39 YW 7 I8 & Fowd & g3 i aueEiae o
forg 2
(i) 39 T § WM FaREs o Ufsic S g H1 Ieo@
it |
(v) 3 g0 Tepret TN sy foifam |
SraT
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30.

31.

Study the diagrammatic representation given below of the Earth with
regions marked ‘A’ and ‘B’ respectively. Answer the questions that follow.
90° N

m
S en\
/ EQUATOR 0°
\ 30° S
\ 60° S

90° S

(a) Write the observations made regarding the species diversity when
moving from region ‘A’ to region ‘B’. Give two reasons also.

(b) Stating the reason, mention the approximate number of bird species
recorded in India.

OR

(b) Name the region in the world that records the greatest biodiversity
and mention why.

SECTION E

(a) Meselson and Stahl carried out an experiment to prove the nature of
DNA replication. Recall the experiment and answer the following
questions.

(i) Which two types of nitrogen were used by them in their
experiment and why ?

(ii) Why did they take samples of E. coli at definite time intervals
for their observation ?

(iii)) State the role of caesium chloride density gradient in their
experiment.

(iv) Write the conclusions they arrived at.

OR

Class X1l Science www.esaral.com
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(@) () T qgU-ISH §H B o M oS a1 dd \Y H1 7 6 o

SRIGR SIS aTct UiY o |1 HRUT HAAT T | 39 8 1 F, NS

v

a% fou #ifse Sed wAs F; 99 Fy, 9@ & hHeRy

(GTITET) STTITT ohl GRIAT 7T &I |
(i) Hed % 39 W ol fafge 9 hadl 39 TR o i & AR

R ytaurfea foram <1 @ehar 2 |

32. (F) TEAR W U §= o S0 o T0F & 39 10 a9 sl Y &1 g4 a Th

quIeg SRR HREiHA (NUM) 1 e foran Jmar 2 | =9 s g
% W NhTeRloT o TNTE bl ST AT 2 | 360 il o IWId 3H!

{TTSieh gRT TshUT QAT =l o Th § UicRefl 70T shl Alegal ohl gema

TR |

L

Tk o gfateft STupatt <ht drgan

FEIEZUR R CRIRIR

I

#

/

Fe

——

It TS R gA: Hshuul

\\ ’.
Ve

O 50 100 150 200 250 300 350 400 450 500

—> FepreRtur o g a9 (i |)

(i)  EIRERIUT <k HROT TRXe TSt h Ermar § gfg F Bl 7 ?
ST hITT |
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(b) (i) A true breeding tall pea plant with round seeds is crossed with

a recessive dwarf pea plant having wrinkled seeds. Work out

the cross up to F, generation giving the phenotypic ratios of

F; and F, generation respectively.

(i1) State the Mendelian principle that can be derived only with the

help of such a cross.

32. (a) A time-bound vaccination programme is followed for the children in

our country from their birth up to ten years of age. A graph plotted

below shows the effect of the vaccination followed by infection by the

same pathogen, and the antibody concentration in the blood of the

child.

Antibody concentration in Blood

Vaccine is administered here

—— j

TN f Reinfection with same pathogen

(i) Explain

O 50 100 150 200 250 300 350 400 450 500

—> Days after administration of vaccine

why the administration of a vaccine causes an

increase in the antibody concentration.

Class X1l Science
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(ii)

(iii)

(i)

Class X1l Science

Ife TR A8 o &1¢ s I IH WIS bl HshHUl & ATCT 7, dl
wh # yfreft erpe it wrgar Sgd e @ Sedt @ | e
e for T <l BaT R |

= & g arfere & fafie geer Y wfowen qen 98 @ Ted Bt
8, % fIw § F= U Bl 3 | difereRl § 3AfRd P, Q) R, S

AT “T° 1 Ug=H iy | 5
s 35 s | T s | s st
i Jafedtd
(1) |vmepfaer, |fsha & P Q
TwieE/gY
: FaT o S
(2) | Irpfden, Ffssha T R |
HR-IN
9 HaAU
(3) | 3uTfSid, dfsha ‘@ Hi A S
(SerEfi) <
et oyt
(4) | St fesea T T | e
(FSr )
rera

TR 1 YOS A FIT 8 2 Th o Sl HYAN AT =FHT
1 HET ST B 2

fFrfafaa g1 = drd @Y &1 9 fTee 7Hg IR | IS g1
1 Teh-Tsh g1} fefan .

(1) #fgst
(2) ik

(3) HAIHH 5
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(i1)

(iii)

() @

(i)

Class X1l Science

If the child is infected with the same pathogen almost four
months later, the antibody concentration in his/her blood

increases very fast. Explain why.

A table given below gives information about different types of

immunity and how they are attained. Identify ‘P’, ‘Q’, ‘R’, S’

and T in the table. 5
. Presence
. Type 9f Prodgcthn of memory Mode attained
immunity | of antibodies
cells
(1) | Natural, Yes ‘P ‘QY
active
(2) | Natural, No R Across the
passive placenta  during
pregnancy/breast
feeding
(3) | Acquired, S Yes Getting a vaccine
active during breast
feeding
(4) | Acquired, T No Getting an
passive injection of
antibodies
OR

What is the chemical name of ‘smack’ ? Why is the consumption

of smack considered as an abuse ?

Name the source plant and one effect of the following drugs on

the human body :
(1) Marijuana
(2)  Cocaine

(3)  Morphine 5
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33. (&)

Class X1 Science

d= feu 7o M@l | W & dfienl 1 QST T 2 | 39 gefuq feu

(1)

(i)

(iii)

STk o § didi § TeRvTl o TR <hl o fafem st gurtan
TR | 3EE e e 1, < aur 3 faftr W fow 3w feew S
STl qehrTeh! 316 (UTRTIY STecTaett) T 8 2

frfeiRad 919 9%a AT 994 - gg 91 S T & ?
(1) amex foreft

(2) JfcrgaRkar

AT STITHA ! FAlCATRd LA oh [oT¢ I UTedl 4 3
Ifrat fasrfaa 2 <t 8 | 30 329 i Tifta o fofu Neni & wgres
TS AT AAT Th HIh Ik hl e Hif |

AYAT
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33. (a) Study the diagram given below showing the modes of pollination.

Answer the questions that follow.

(1)

(i1)

(iii)

Class X1l Science

FO

The given diagram shows three methods of pollen transfer in

plants. What are the technical terms used for pollen transfer

methods ‘1’, ‘2’ and ‘3* ?

How do the following plants achieve pollination successfully ?

(1) Water lily

(2) Vallisneria

Flowering plants have developed many devices to avoid
inbreeding depression. Explain one hereditary and one

physiological device which helps plants to achieve this target.

OR
www.esaral.com
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(@) UH aM= gHd S & e Ish bl 0 o gro eurien mn R | sEe

N

3ifehd TEATE 3TTdel =ish & fear@l i 3fTa wedt 8
) T=faRea % fau agfaa mienfyes weg = 8 2
1) feam1-7
(2) feam 8-12
(3) feowm 16-28
4) feam 13-15
(i) Trafafaa o1afa 4 Terrl gHE o iy gHE 61 e
h! ST HIT
(1) feew 8-12
2) fe@m13-15
(3) TCa@ 16— 28 5
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(b) Observe the diagram given below showing the menstrual cycle of a

normal human female and answer the questions that follow :

(1)

(i1)

Class X1l Science

Numbers indicate the days of the menstrual cycle

What are the suitable technical terms used for the following ?

(1) Days1-17

(2) Days8-12

(3) Days16-28

(4) Days13-15

Explain the role of ovarian and pituitary hormones during the
following time periods :

(1) Days8-12

(2) Days13-15

(3) Days 16 — 28 5
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023

SUBJECT NAME BIOLOGY (SUBJECT CODE 044) (PAPER CODE 57/1/1)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 0-70 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totalling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior Secondary School Examination, 2023
BIOLOGY (Subject Code—044)
[ Paper Code:57/1/1]

Maximum Marks: 70

Q. Marks | Total
No. EXPECTED ANSWER / VALUE POINTS Marks
SECTION A
1. | (b)/ (ii) and (iv) 1 1
2. | (c)/ X =Promoter, Y = Sigma factor, Z = RNA polymerase. 1 1
3. | (a) / Declining population. 1 1
4. | () / Point (i) 1 1
5. | (d)/P-(iii), Q - (i), R- (i), S- (iv) 1 1
6. [(c)/1land3 1 1
7. | (c) / Directional selection as giraffes with longer neck lengths are selected /1/
i

(d)/Stabilizing selection as giraffe with medium neck lengths are selected. 1 1
8. | (c)/1300 1 1
9. | @)/ P—(ii), Q —(iv), R —(iii), S— (i) 1 1
10. | (c) / Leydig cells — Androgen — Initiate the production of sperms. 1 1
11. | (b) / Salmonella typhimurium. 1 1
12. | (d) / Dr. R.A. Mashelkar. 1 1
13. | (c) / Alis true, but R is false. 1 1
14. | (@) / Aand R are true and R is the correct explanation of A. 1 1
15. | (c) / Ais true, but R is false. 1 1
16. | (@) / A and R are true and R is correct explanation of A. 1 1

SECTION B

17. | (a) Blastocyst Y%

(b) Uterine wall/endometrium/innermost layer of uterine wall. Y

(c) (Outer layer/trophoblast) ‘X’- helps in implantation in uterus/attachment to Y%

endometrium.

(Inner cell mass) “Y’- gets differentiated into embryo. Y% 2
18. | (a) From micropylar end, through the synergids (filiform apparatus)/filiform (within | ¥x2

synergids) apparatus guides the entry of pollen tube

(b) One male nucleus fuses with two polar nuclei to form Primary endosperm nucleus 2

and termed triple fusion, other male nucleus fuses with egg cell nucleus to form Y5%x2

zygote i.e. undergoes Syngamy
19. | (a)

(i) ‘A; Circular DNA/Plasmid

‘B’ Bacteriophage

(ii)(Plasmid)-Can carry foreign gene into the host cell/acts as cloning vector/has

selectable marker/ independent of the control of chromosomal DNA/ high
copy number
(Bacteriophage) -Cloning vector have the ability to replicate in bacterial cells /
independent of the control of chromosomal DNA / high copy number per cell.
OR

(b) Treating bacteria with specific concentration of calcium (ions)which increases the

Y
Y2

Y

Y
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efficiency with which DNA enters the bacteria through pores in its cell

wall ,recombinant DNA can then be forced into such cells by incubating the cells
with recombinant DNA on ice, followed by placing them briefly at 42°C (heat shock), | Yx4 2
then putting them back on ice.

20. | » Doesn’t take into account same species belonging to two or more trophic levels.

« Assumes a simple food chain which never exists in nature/does not accommodate a
food web. 1x2
« Saprophytes are not given any place though they play an important ecological role.

(Any two points) 2
21. | 2-4 percent 1
8-1 percent share of the global species diversity 1 2
SECTIONC
22.
15 Vector DNA . Foreign DNA 15
RONEETE BIIDONG
‘ Yox6
3
Recombinant DNA
12
23. | (a) Recessive trait, both the parents in generation | do not express the trait yet it Ya%2
appears in the progeny.
(b) Autosomal trait, both male and females have equal chances of getting the trait. Y x 2
(c) Child ‘1’ : Aa/AA, Child ‘3’ : Aa Yox 2
// I
(a) Recessive trait, both the parents in generation | do not express the trait, yet it .
appears in the progeny. /2% 2
(b) Sex linked trait, comparatively more male are getting affected. 72 %2
(¢) Child‘l’ : XY, Child “3": X’ X(carrier) Vex2
3
24. | (a) They have the ability of self-renewal / to divide, and differentiate into any Yox 2

kind of cell/tissue/organ.

(b) — Inner cell mass of blastocyst / umbilical cord / Bone marrow
(or any other correct source) 1
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(Any one)
(c) Diabetes treatment via forming islets of Langerhans,
Restoration of vision by injecting stem cells, to treat rheumatoid arthritis, reduces | % x 2
pancreatic cancer, to treat genetic disorder like cystic fibrosis, spinal cord injurie,
heart disease, any other correct application
(Any two)
25. | (@)
S. Malignant tumor Benign tumor
No. 1
1 Cells grow very rapidly and Comparatively slow growth and remain
invade and damage the confined to their original location and do
surrounding normal tissue. | not spread to other parts of the body
2 Show metastasis Do not show metastasis
(Any one difference)
(b)s Metastasis 1
« Cells from these tumors slough off and reach distant sites through blood,
wherever they get lodged in the body they start a new tumor there. Ve x 2
26. | (a) Primary Sludge: All the solids that settle down, during the primary treatment of Y % 2
sewage water.
(b) Activated Sludge: Produced during the secondary treatment or biological Y% 2
treatment of sewage, primary effluent + aerobic microbes flocs (bacteria and
fungus) — get converted to a sediment whose BOD has reduced significantly.
Yo% 2
(c) Anaerobic sludge digesters: Large tanks where activated sludge is treated with
anaerobic bacteria which digest the bacteria and fungi, and produce a mixture of CHa,
H>S and CO»/ Biogas
27. | (a) Dryopithecus, Ramapithecus Yot
(b) Time period : 2 million years ago Y%
Place : East African grasslands Y2
(c)
Homo habilis Homo erectus
Brain capacity Brain capacity 900 cc
between 650 — 800 cc Yo
probably did not eat probably ate meat
meat. Y2
28. | (@) (i) (1) ZIFT : Zygote intrafallopian transfer.
(2) ICSI : Intracytoplasmic sperm injection.
(3) IUT : Intra uterine transfer.
(4) GIFT : Gamete intrafallopian transfer. Yax 4
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(ii) *GIFT Ya
*GIFT allows the eggs to fertilize and develop in the fallopian tube/ IVF places | %
a directly fertilized egg (zygote) into the uterus/ in vivo fertilisation is involved in

GIFT.
1
OR
(b) (i)
Perisperm Pericarp:
Persistent nucellus in some The wall of ovary develops into
seeds wall of fruit.
1
(i)
Syncarpous Apocarpous
fused pistils. free pistils.
iii)
Plumule : Radicle :
Future stem/ terminal part Future root/ terminal 1
of epicotyl / shoot tip of part of hypocotyl /
embryonal axis root tip of embryonal
axis
SECTION D
29. | (a) In presence of lactose repressor protein dose not bind to the operator region (O) 1

and allow RNA polymerase to transcribe the operon.

I I

In absence of lactose repressor protein bind to the operator region (O) and prevent
RNA polymerase from transcribing the operon. 1

(b) Presence of Permease enzyme coded by gene ‘y’ is required that allows lactose to
enter the cell for switching on the operon / so that lactose enter inside the cell. Y

(c) i’ stands for ‘inhibitor/ this gene transcribes repressor protein which binds to
the ‘operator’ site and switch off the operon. Y

(d)
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LP I i [-l) [@[ z L)' F | In absence of inducer x4
Repressor binds to the operator region(o)
N and prevents RNA polymerase from
Repressor mRNA | {ranscribing the operon
% | &
Repressor
Y
OR
(d)
| li'J i 11’] -] I - | ¥ ] i | In presence of Inducer
Transcription 1-/&
Repressor mRNA lere miHNA
1_;6 1 1 I ! Translation ]/2 X 4
(:T:} fgalactosidase Permeass iransacelylase
|llt|t|n'|‘/’r‘r‘- 1-?’5
0 «»
(Inactive repressor)
Y
4
30. | (a) Species diversity decreases as we move from region A to region B. 1
Reasons : less Constant mean annual temperature, lesser habitable land 1+1
area, availability of lesser solar energy, lesser productivity, any other correct
reason in ‘B’ region.
(Any two)
(b) More the 1200 species of birds, Indian land mass being largely in the tropical Yo+l
latitudes.
OR
(b) Amazonian rainforest (in South America), mainly being in tropical region. Yo+l 4
SECTION-D
31. | (a)(i) Normal nitrogen/ N, heavy nitrogen/ °N Yot
to produce two types of DNA / light and heavy DNA respectively. 1
(ii) E. coli has generation time of 20 minutes so the samples taken at intervals of 20 1
minutes, to understand the mode of replication when E.coli with >N DNA was
cultured in medium N (normal) nitrogen.
(iii) To distinguish or separate heavy DNA from light DNA on the basis of density. 1
(iv) Mode of DNA replication is semiconservative. 1
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OR
() TTRR ttrr Y
Tall round seeds Dwarf wrinkled seeds
Parents
Gametes Ya
F1 generation TrRr (All tall round) %
lSeIfing
TtRr X TtRr

Y

(Male and Female gametes along with Punnett square are to be awarded two marks)

F2 gen. Tall Round Dwarf Tall Dwarf

Round wrinkled  Wrinkled
Y%

9 : 3 : 3 : 1
(i1) “‘when two pairs of traits are combined in a hybrid, segregation of one pair

of characters is independent of the other pair of characters’(law of independent Y,
assortment ). 5

32. | (a) (i) The vaccine contains the antigen, which stimulates or activates immune cells to | %2+1
produce antibodies (by B lymphocytes) / which generates primary response or
humoral immune response.

(i) Memory cells generate, amnestic response/secondary response Yot

(iii) P=Yes
Q = Catching an infection/getting infected
R =No Yox5
S=Yes
T=No
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OR
(b) (i) Diacetylmorphine 1
* as it is highly addictive, and being a depressant it slows down body functions. | %+%
(ii) (1) Cannabis sativa, affects the cardiovascular system of the body. Yot
(2) Erythroxylum coca /coca plant , interferes with the transport of YotYs

neurotransmitter dopamine / produces sense of euphoria / increased energy.
(3) Papaver somniferum, acts as depressant/ slows down body function/ reduces Yo+l
pain/sedative 5

33. .(a) (i) (1) Autogamy

(2) Geitonogamy %3
(3) Xenogamy
(ii) (1) Water lily: pollinated by insects/wind. Y
(2) Vallisneria : Female flowers on long stalks reach water surface male flowers or
pollen released on water and carried by water current to female flowers to achieve 1
pollination.

(iii) Genetic : Self-incompatibility / prevents self-pollen (same flower or other flowers
of same plant) from fertilizing the ovules by inhibiting pollen germination, pollen | Y%x2
tube growth in pistil.

Physiological : Pollen release and stigma receptivity are not synchronized, either
pollen matures earlier and stigma later or pollen matures later than stigma. 15x2

OR
(b) (i) (1) Menstrual period
(2) Follicular phase/proliferative phase Yax4

(3) Luteal phase/secretory phase
(4) Ovulatory phase

(ii)

Yox6
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Days Ovarian Pituitary hormones
hormones
1 8-12 Follicular Simulates follicular
growth /

Development/ secretion of

proliferation estrogen by growing follicles

of
endometrial
cells.

2 13-15 Maturation of Rupture of graafian follicle to
ovarian release ovum.
follicles/

formation of
graafian
follicles /
thickening of
endometrium. 5

3 16-18 Maintenance Secretion of progesterone
of from corpus luteum.
endometrium
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